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Figures BNP — Circ :

Fig 1
BNP and NT-proBNP levels according to the syncope etiology
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Time-dependant ROC curve for death

~ Performance at 30 days: Performance at 720 days:
- BNP: 0.74 [0.63-0.84] - BNP:0.76 [0.72-0.8]
- NT-proBNP 0.78 [0.68-0.89] - NT-proBNP 0.8 [0.76-0.84]
- Troponin T Elecsys 0.77 [0.66-0.89] - Troponin T Elecsys 0.8 [0.76-0.84]
- Troponin | Architect 0.75 [0.61-0.89] - Troponin | Architect 0.76 [0.72-0.8]
- Var.combi 0.71 [0.6-0.82] - Var.combi 0.77 [0.73-0.81]
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Performance at 30 days: Performance at 720 days:
- BNP: 0.75 [0.71-0.79] - BNP: 0.76 [0.73-0.79]
- NT-proBNP 0.76 [0.72-0.79] - NT-proBNP 0.78 [0.76-0.81]
- Troponin T Elecsys 0.76 [0.72-0.79] - Troponin T Elecsys 0.77 [0.74-0.8]
- Troponin | Architect 0.75 [0.72-0.79] - Troponin | Architect 0.76 [0.73-0.79]
- Var.combi 0.7 [0.66-0.74] - Var.combi 0.73 [0.7-0.76]
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A) Death 30 days MACE 30 days
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B) Death 30 days MACE 30 days
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Kaplan-Meier Curve time to Death and MACE, stratified by BNP Kaplan-Meier Curve time to Death and MACE, stratified by NT-proBNP
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Kaplan-Meier Curve time to Death and MACE, stratified by hs-cTnl
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